|
N\
o
e
\
~
b
—
\
EN
o
N
o
H
AN
T
—
L
—
N
R_r

Pd
) WIXEYTIL AT F—Urs T

PRRES | Tt e el CORE NE=S L) (&8 [5F%s (WM [Rel  |Ew (&8 s L)
= T[olCh—ri—A 2] 31 EIEES
B = EXYL
= 35| sea0s1s I 5015504
2 21 1
— 8670004 © 2% 2076123
= 1 o % 0 =5
= [AmFoLCER 3302710 3 a 1] 1122503
= RAKFER 2 2 2 n
= BEOLCAT—L 4 2% 2?1 21
B To[FEoLC B 5 | 28] Ta0se8e 2 50| _oamne 5530227
= T 57] 7] 1 77 77 —]
= 5 s 5 2% 2
: , : Ln o S -
E 5| o] 1396402 £EL 5 i a| 2061269 # 5 1)
— 5 0 AR 35| 20asst6| __[dm 2| 7007082 [ 2 1420302
= 4| 7060583 3| toTi00s|[mA A 4] 7000504 [RWER 2] 7000502 | T I | T3] 7000505 700581 |
A = 7 FHEE 5] 3 o]
A E 7197 5 EREN 0] 8640516 [ IECEED
A E 7403700 3 T e 6 2% 5000913
A = © BT
A = 5 CEELY 5
A 2 2 B & n
A = EENE 5 a
A = 1087289 BB R % 53| _1a20720
A E BEES % 2
28 = i5o023 | [mE 2] o]
A E 4| ABHOLC 5 7 T BT 5
A E 5| ABHOLC 17 RS 7
A 6| BROLC 2122603 2122600 EELLES 2123601 =ang 4| 2122508 2122599 1009882
A = 7205586 W 1| 20557
28 = FIPEDS Tl [EREE ) P I | Ta05587 o628 |
A =i T [ [oums [ [Fmmis 7] E
A 011567 3| Emi ) (e 27 soszess|  [HIWE
A =i 17| RE® IS i 2] [ [EmE
X = 2] ECLED 3 R A 2 5 2
22X = 2] BT 37 e B % Tl R 2
A E2 161[#AOLC 1_2‘ R — 6] 1_2{ & BE 1_2{ BED 2]
28 = S| ARETOHE 7] ELEES 7 R 7 ETET 7
[TA =i 5 [ BrsORAR00 2] R RS 2] R B 5] B AL %
[x =i 53| GROK 25| e o 5 ThAT 5 T %
[a f EILTE 2T 2] mEn (8| 2 FEne (8 | n ELE] %
AL E2 ITFRY230X z_z‘ FR RS 22 B itk 20 22
A B R R Wrwm (B | 20 20
A E R FER 2] EE|
A E CLE LZ3) N 20]
A E R B o 21 21
A = wxAn R 2
A = BEET B R =
A = | AR 7209253 BT 2
A £ ES 2
A R RE 2]
AL —F— B Ty BEE 1]
A== F 2] (i 7
AL —H—7: — %] ERRA z?l
AL—A—7: B Ex]|
AL =77 E FRFE 2
A=A =7 = T BAL 2| 26
AI=A—7 = EEET] % 3
TR AT = A % 77
TAL=A=T : 2% 2 i R % EE)
TAL=A=T : 2 2 ES2IN 2 21
AL =77 = 120 7 RIA 3
A7 7 £ ] SHm— 7
AL —7—7 E 122 RF20IGA AR 1571003 33 %
AL =77 F 123 University of Osaka ok —i n
AL —7—7 E 124 pigeon L] E’
A =A=T = 125 [Los0RE 2 ELETN 2 2
o = T Trerfoe i SraE = 3
=475 E3 127[77hHOLC 2 2 [I3E] 2| 2|
L= = 125 ZEEBZ01I! 2 2 [EEE] 2] 2]
L4 E3 129 F-LEcwy 2 2 [Ba ks 2| 2]
AL 77 5! X 2 BRI Atk 2 gl
A7 =7 E 5 TR %
AL =77 E 3 A 2]
AL =77 2 T T B 7|
AL =77 = 134 | FRERBERTERE 7] RERT g7}
T e — e iaogs : fEaom o
AIL—A—7 = 156 REOKZE. ) %6
L7 E3 137 [KOLCSIstC 0 ) 2
L= = 138 | KOLCTAVEL B 23] 8002113 23] so0zris AHE 25| so0zris RERE 23] 8002716 22| soozriy 23] _soozr1s 002715
L4 = 139 REOLZSIC a7 R R 2 [E32 27
47 m 5y =y omRE n A 61 = LS 5
41 [ITFIKKO zj LT A0 2]
42| 5550 PEOLC R A EIILL3
EERBAT i BHEAL
44 [RABLAT 6 B T 050115
— 145 [ SiFBEA *B BB R _sl
= 46| Sz DR THRT TERE I 3
= 147 [WEHFL O HOE 2 2 FERE n 3L ) E 15
= 145 | AR —5U-257 2 22| 8664055 L 2 FEES 2 IEZ] 2
= 149 | BISS ABEDGA ST 21 2 (k] 2 AR 2 HEFR 2
= 150 [ 9T LT 57| 8631039 57 LR 57| 7209628 61 i 5 50| 7344056
= 51 [MEEALyE 21 21 HEFR 2 21 BLBRL 2
= TI[ABFOLC RECE 5] 1003933 5o AR 3 BERT 7o[ T
= 72 ESPRC.C 57]seronrt AR 7 BIRE 45| _so1tss
= 73 [OLPRE—B 55| 8000793 61| tssoits W RE 5| 7060580 BuEE 58] 7203660
= 74| EHOLZ57D G EE2) i HEME
Al = SBOLE [ Tk L &
A E ERBRAAEE 611310916 7203652 AP 301525 TEAT &
A E FROLK—A 7003195 GELED R EF 52
A E FROLKB 7003193 504603 *7 B 8268907 x5 35T 6| 7140977
A E 7555 AV 720 2110393 FH RS 7300004 SHEw 75| 7207954
A = FRERR 2078585 B2 2066901 0| 8664053
A = FwoLC 1
DY = 82 ABOLCTH E 8 & 70| 1393133
DY = 5[ WR0Ly578 REE
A = 54| OLPRR—C 7000503 1038650 U RE 8391115 REGE 8655000
A = o1 [EnE 1 nwE
A E 202 [ESPIRCE 2056919 2078585 CEIES a7
A E 203 [EF—5— i
A E 04 [RETESE 0 0 ik %
A=A —7 3 205 [ DioLC 8 5 T 5
A7 =7 = 206 | ARIHOLC X ] 155971 B RE T
A7 = 207 ClubMmE 52 [ [ EREE o
AL = 208 [ bottom generation 2 2 2 ELLY 2
A7 = 209 5 5 A HE 0
AL =77 = 682701 3 HESE 241756
A7 =7 E 1 Toms02| | E R
AL =77 E [T FARE
AL =77 E 2 EEL)
AL =77 % = ELLZ)
AL =A=7 = 3 8 B
A=A —7 = T 23 B R
47> = El [ 31 R E &
o = 2 5 25 #3 A8
=7y = [ EET 65| 9102205 AREE 3 WERF 54| seavsiL
A7 = 5 R AR 81| 8630956 =TT i BEEE 3
7> = 5] 860152 ELBRE 21| 7ios0r|  |mImA 57 S %
7 = 543 FA BT 3 :|: LT 3 LEAE 3 SHRT 5




